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HBE A E F(Oxygen free radical, OFR)IR FI &L EAH

OB IERNE AT 2-3 AU ZE R R AR A E o

MEBX :

&% 100T/96S

AW B B SRR I S B SRS S AR R R AL, (AR 2 I 2ot A K A K A
WER, SENURGRRAMALU 7T, 51 2 AR .

M E JRIE :

AP B T 5 R RN SR N FRNO, s NO, — AE X R R A a— ZRIEHIME TR, AR R &
P, #£ 530nm AbARFAEIE U, HRAE AA (EFT LSRR S 0,7 &, N3N NH,0H +20,~ +HT - NO,

~ + H,0, + H,0.

BE&XERARELE:

K K BOHL AT TR R JELL tA /96 FLAR . SO AR EK .

T 5 2H AR FOBC -

PRIBOR: WA 110mLx1 i, 4°CLRTE-
WA Witk 20mix1 #, 4°CHEEAE.
WA WAk 15mix1 i, 4 CRGIRLE.
WA= Wifk 15mix1 i, 4 CHIGIRLE.
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BEAETER:

1. fEY). AL FHEALE (g) « RIEAEF(mL)A 1: 5710 BILLE] CRIFRENZ) 0.1g 4HZR, Jn
N ImL3REGRD #HTUKIB A1, SRJ5, 10000g, 4°C, B0 20min, HU 3% B TUk &,
2. Y. B EAEE (00 o REGEAFR (mL) 2 500~1000: 1 BIEGE] G2 500 7340

AN ImL $RBGRD, DK P SRR (B 300w, B 3 40, [HIEG 7 7,

10000g, 4°C, E5:.» 20min, HU FiEE Tk 4R,
3. IMIBFEREE IR : BEENE.

BEFTE] 3min); SR A

MEHRIER:
O EE /BRI 30min, AT K 2 530nm.
1. EfER
THE e
FEA (ub 200
PRI (uL) 200
B (L) 160 160
18251, 37°C/KiA 20min
KA (ub 120 120
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RA= (uD | 120 | 120
VB2A, 37°CKIE 20min
WAL (L) | 200 | 200

VA1, 8000g, 25°C, 5.0 Smin, /NCIREL R KA 200uL T A S bl /96 FLAR 1, MIE AS530. A A=A
ME-ATAH, TAEHEH—E,

HERBETIETEAR
a. FAMERZELemiE HtEARNT
bR £ y=0.0242x - 0.0027, R2=0.9980
1. HY:
(L BRI E
R E 5 (nmol/g #EHE) = (AA+0.0027)20.0242xV [ +(V BV BE S xW)x2

=148.76x(AA+0.0027)=W
A E TP ZE (nmol/ g'min) =148.76x(AA+0.0027)+W=T

=7.44x (AA+0.0027)+W

(2) WEAFURETH
A EF S8 (nmol/mg prot) = (AA+0.0027)+0.0242xV JZ =V FExCpr)x2

=148.76x(AA+0.0027)+Cpr
HAE BB 7 AR (nmol/ mg prot-min) = 148.76x(AA+0.0027)+Cpr=T

=7.44x (AA+0.0027)+Cpr

2. B, HIE:
A58 (nmol/10 cell) = (AA+0.0027)+0.0242x V [ f+(V FExV FE 5 x40 ) x2

= 148.76x(AA+0.0027) -+ ZH il 25 B
A E TP ZE (nmol/10% cell-min) = 148.76x(AA+0.0027) + ZH B R +T

=7.44x (AA+0.0027) -+ 4R &
3. MiEEEETRIR
HAET &8 (nmol/mL) = (AA+0.0027)+0.0242xV X &+V Fx2
=148.76x (AA+0.0027)
A E T4 ZE (nmol/mL'min) = 148.76x (AA+0.0027) =T
= 7.44x (AA+0.0027)

VEEE: IIARBURMAEF, 1ml; VRE: RNESAEFT, 036mL; VFE: RMNHFERAEF, 0.2mL; Cpr:
FEARBEURE, mg/mL; W: FERVSTR, g5 T: RREZIIE], 20min; 2:2 53 F 0,” 2 54 1 45T NO,

b.F 96 FLiR e KT+ HE AR T
FrifEfZE: y=0.0121x-0.0027, R?=0.9980
1. HH:
(L BRI E
HBEE 5 (nmol/g #EHE) = (AA+0.0027)20.0121xV [ +(V BV BE S xW)x2
=297.52x (AA+0.0027)+W
A4 EE (nmol/ g'min) =297.52x (AA+0.0027)+W=T
=14.88x (AA+0.0027)+W
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(2) LR A R T

HEPE S8 (nmol/mg prot) = (AA+0.0027)+0.0121xV 2 k+(V FExCpr)x2
=297.52x (AA+0.0027)+Cpr
HEFAE 77 A% (nmol/ mg prot-min) =297.52x (AA+0.0027)+Cpr=T
=14.88x (AA+0.0027)+Cpr

2. éEHy E:
HAABE T 58 (nmol/10% cell) =(AA+0.0027)+0.0121x V S +(V £E+V BE S x40 o &)x2

=297.52x (AA+0.0027) 4 Jil 5 &

A B T4 E (nmol/10% cell-min) =297.52x (AA+0.0027) < 4 il i & =7
=14.88x (AA+0.0027) -+ 4l fu i =
3. Mg S IR
BEHE T &8 (nmol/mL) =(AA+0.0027)+0.0121 xV 2 A=V #x2
=297.52x(AA+0.0027)
HEAAB T4 3% (nmol/mL'min) = 297.52x(AA+0.0027) =T
=14.88x(AA+0.0027)

VEEE: IIARBURAR, 1ml; VRE: RBLSAMAER, 036mL; VEE: RBFFERER, 02mL; Cpr:
FEARBEATUKE, mg/mL; W: FERRE, g T: RN, 20min; 2: 2 5F 0, 25 RMNAEM 1 4F NO,

AEEW:

1. ODMHAT 1, FffhIE MR AHIE, ERIHE AKX R RAE L

2. FEMBISRLF S, SLZIHATINE, TEZ0RRE R EEAT R R OARIR PR A7 DASR R RE 45 2R
3. U — @ RREE, TE BRI LT B e i .



